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imts.hOOO OOOO0OOOOCOOOOO0OQ0OODOO0O0O0OCOODOO0OOOO0OCOOODOOOOn
Bcc320 0O OINT_MINO -2147483648 INT_MAX O 214748364INUINT_MAX O 42949672951 000

#include <stdio.h>
#include <limits.h>

int main(void) {
printf("INT_MIN = %d¥n", INT_MIN);
printf("INT_MAX = %d¥n", INT_MAX);
printf("UINT_MAX = %ud¥n", UINT_MAX);

return 0;

}
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typedef0 0 typedef0 000 O0OD0O0O0O0OO
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typedefd O | typedef 0 OOODO ;
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7.2 JOOOOO
sizeof DO OOO0O
#include <stdio.h>
void foo(int x[]) {
printf("size=%u¥n", sizeof(x));
}
int main(void) {
int a[] = {1, 2, 3 };
printf("size=%u¥n", sizeof(a));

foo(a);
return 0;
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#include <stdio.h>

void move(int n, int a, int b) {

printf("O0000%d0O0%d 00 0% 0 ¥n", n, a, b);
}

/A *n0000000a00pOOO0OOOOO */
void hanoi(int n, int a, int b, int c) {

if (n==1) {
move(n, a, b);
} else {

hanoi(n-1, a, c, b);
move(n, a, b);
hanoi(n-1, c, b, a);

}
}
int main(void) {
int n;
printf("OOOOOOO0O? "); scanf("%d", &n);
hanoi(n, 1, 2, 3);
return 0;
3
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#include <stdio.h>
#include <math.h>

void drawTree(int d, double x, double y, double r, double t) {
/% d --- 0O0OoOooooog */
/¥ (x, y) --- 00000040 =/
/¥ r --- O0ooOoag =/
/¥t --- 00000O0oooooono */
double ri;

if (d == 0) return; /* OO0 */
printf("%6.3f %6.3f %6.3f %6.3f¥n",

X, v, X +r * cos(t), y + r * sin(t));
drawTree(d-1, x + r * cos(t), y + r * sin(t), 0.5 * r, t);
rl = 0.5 * r;
drawTree(d-1,
drawTree(d-1,

Xx +rl * cos(t), y + rl * sin(t), 0.5 * r, t + M_PI/2);
X +rl * cos(t), y + rl * sin(t), 0.5 * r, t - M_PI/2);
}

int main(void) {
drawTree(6, 128, 255, 128, -M_PI / 2);
return 0;
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